
3. Schulstufe – Wiederholung  ZE +/- ZE o. Überschreitung 

CK 

Rechentraining  
Rechnen bis 100 ohne Zehnerüberschreitung  

 

 

Name: _________________________________________________ 

 

 

 

61 + 23 = 76 - 52 = 51+ 18=

52 + 27 = 37 + 32 = 64 - 44=

66 + 22 = 25 + 65 = 44+ 15=

84 - 63 = 79 + 11 = 45 - 31=

44 + 24 = 52 + 14 = 74+ 21=

22 - 11 = 24 - 21 = 64+ 14=

56 - 53 = 13 + 14 = 75+ 15=

61 - 41 = 92 - 31 = 41 - 11=

29 + 51 = 94 - 52 = 22+ 13=

98 - 12 = 86 - 15 = 86+ 12=

69 + 21 = 57 - 24 = 54 - 42=

46 - 23 = 78 - 32 = 15+ 81=

16 + 74 = 59 + 31 = 28 - 11=

25 + 35 = 15 + 64 = 44+ 41=

56 - 44 = 16 - 14 = 83+ 13=


